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Public Administration

Paper II

eh q9mEq
P9aEeRT 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U 3Med. @E U WrE.

oAl : A YEAULTRd THY UAE (50) SgTarl RA fol ofRd. Yoeh URATRn g (2)

Who defined “Administration as an
organisation and direction of human

and material resources to achieve

ends” ?

(A) L.D. White
(B) J.M. Pfiffener
(C) James Fesler
(D) Luther Gullick

According to whom ‘Organisation is
a system of consciously coordinated

activities of two or more persons’.
(A) M.P. Follet

(B) Herbert Simon

(C) Chester Barnard

(D) G.A. Almond

U &4 Q1A hvgTEIs) A 37T
wfifaer T e S0 Jrieye s
TIMEA 3T ST IO hell 2
(A) TAE. =EL

(B) S.wH. Ao

(C) S H&ER

(D) IR T[feTeh

"o WS € fohal S SHeaRiioh g

=N

STUffergeieh FH-II hdll HIORT SHTE

AR Y FIN T MR ?
(A) TR.W. iR

(B) @& HrEEA

(C) ==X FE

(D) ST IS
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Who has called public corporations
as “a halfway house between public

and private administration” ?
(A) Appleby

(B) Follett

(C) Fayol

(D) Gullick

Authority as a two-way process was

viewed by :

(A) Max Weber

(B) Chester Barnard
(C) Chris Argyris
(D) McGregor

New Public Management is

characterised by :

(1) Hierarchical Structure
(2) Managerial Autonomy
(3) Centralised Control
(4) Competetiveness
Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (2) and (4)

(D) (1), (2) and (4)
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ST Ad ESieh 9 § HesiHeh
AT |l GYMEATHeTa g8 9
A ?

(A) 3fgedt
(B) Wicie
(C) %ata

(D) Tferh

arferemn 2 feamita gfsman o1 218 i
Tdq 8 ?

(A) HeE 9o
(B) =R &I
(C) fem amiiis
(D) HeRITR

T GreSleh HALATIA EeiieTieh!
Sfyee w2

(1) YSEaE =

(2) SHEATTh F  TTIRI]

~

(3) wiFa fE=m
(4) Tqufcehal
RIEC I

(A) (1) 3o (2)
(B) (2) T (3)
(C) (2) 3 (4)

(D) (1), (2) =T (4)




Which of the statement mentioned

below is not true ?

“Kautilya regarded the king as ....”
(A) Servant of the people

(B) Absolute Monarch

(C) Sources of all authority

(D) The creation of Epochs

The

focus of Wilsonian

administrative thought has been :
(A) Nature of State

(B) Purpose of Government

(C) Government in action

(D) Technical training

Most efficient form of organization
that resembles a machine driven by

impersonalisation is :

(A) Formal Organization Model
(Gullick)

(B) Rational Legal Model (Weber)

(C) Administrative Man Model

(Simon)

(D) Informal Organisation Model
(Barnard)

6.
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ETeaeh! HIv faam g e ?

)RR UPERED
foree = JeTEes 19 faammed Wiefiaruen!
DU FEh DR T 2

(A) TR @W&Y

(B) YA YIS
(C) Thidg IMEA
(D) aifsres wfemeror

HEST e HIA T FHAAfRRIOmgR

TafeAd IMHHM R UEY g ?

(A) 3= Feea weu ()
(B) difeheh aenfier WET (IR)

(C) YHehg HHd Ye9 (JEHE)

(D) SFTAeR FEAT ey (A1)
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10.

The principle of ‘supervision’ is

inherent in the principle of ........ .

(A) Span of Control

(B) Coordination

(C) Hierarchy

(D) Unity of command

Critics denounce comparative work

in Public Administration as :

(A) Parochial

(B) Configurative

(C) Formalistic

(D) Empirical

10.
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AU qaTHEAS @i deh! ShIUTe

T THEY edl—

(A) Tz wen

(B) wH<=Fq

(C) TeEMMar

(D) El Tehal

RIEDR HIERIGREEAE AN R NI E R AR IS

(A) HeRfad

(B) dIE®&qA

(C) 3NY=NIcHS

(D) AFHaSTH




11. Assertion (A) : Both India and UK

have Parliamentary

form of Government.

Reason (R): State Election
Commission have
been constituted to
conduct free and
fair elections of

local government

in India.

Answer the question using the below

given codes :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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11. faam™m (A) ¢ 9Ra sfor fageaasd

TESH OISl 3R

HRUT (R) :  9ardta zenfas

RIA=H] F‘iOISULOhI Herd
a1foT ERIDLEE]
ot g frated
SN ST hIvATd

A

TTelid Fendiehiqd ara e faer

Hehdieh

(A) (A) 9 (R) =T s e, ST
(R) T (A) & T TLR e

[a ha¥

(B) (A) 9 (R) &I SReRX 3Ted, U

(R) T (A) o 3Tk TIRIRI AR

(C) (A) ¥ s 31, 977 (R) & I%
3T

D) (A) T g% 3R, 97 (R) ¥ e
MY
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12.

13.

Which of the following pairs is not

correctly matched ?

(A) New Public : Dwight
Administration Waldo

(B) Development : Edward
Administration Weidner

(C) Comparative Public: F.W.

Administration Riggs
(D) Administration : Robert
Development Dahl

Riggs defined development as a

process of increasing ............... .

(A) Autonomy

(B) Income

(C) Power

(D) Confidence

12.

13.
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TTATdh! RV SISl ssR oo

2

(A) 7o AR e
aree!

(B) foE W& . Tede
EIESET

(C) drAeh THRIRMEA  : Th.S=d.
&

(D) WeHehta forerrE RECASES

fosr=n SaregaRr fow™ ae=t gfha

............................. & i

(A) HrEd

(B) &=

(C) &=

(D) AT




14.

15.

16.

The Cabinet Secretariat was

established in Britain in the year :
(A) 1914
(B) 1916
(C) 1918
(D) 1921

Which of the following country’s

administrative system lacks

integrative mechanism ?
(A) Britain

(B) USA

(C) France

(D) Russia

The

economic feature of

modernization is :

(A) Geographic mobility
(B) Industrialization

(C) Member Involvement

(D) Distinct Structures

14.

15.

16.

MAY - 21216/I1—A
foeTqed sfome gfuaraar=n T

(A) 1914

(B) 1916

(C) 1918

(D) 1921

ETATAUShT ShIUTCT ST WRTE SHeedd
TehlfcHesr 0T 319 3R 2

(A) foreA
(B) 3R
(C) W™

(D) e

(A) Srifersr  ywo
(B) sTranfiertertor

(C) HeH= T[aavh

(D) Afereearqul =

[P.T.O.



17.

18.

Who treated development

administration as change oriented ?

(A) U.L. Goswami

(B) D.C. Stone

(C) Robert Dahl

(D) Edward Weidner

The role of civil service in decision

making does not involve :

(A) Search for policy requirements

(B) Collection of data

(C) Deciding optimum policy

alternative

(D) Deciding about instruments of

operation

MAY - 21216/II—A

17. T YeEA § SEaiwie ST 379 whivl

HHEA 7

(A) FUA. T

(B) .9l VM

(C) Ve ='a

(D) TEaE AEST

18. T frefomdter ARl da=n yftend

@eATeteh! ShIvCaT SgehT=l HHAYT ATar ?

(A) RO STEvIShadl N

(B) Hifedt Heherd

(C) I3 HRur yIig S

(D) UR=TeHET HIeqH gl
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19. The NITI Ayog emphasizes on

20.

its :

(1) role as a think tank

(2) composition as an expert body
(3) involvement of member states
(4) role in implementation
Codes :

A D

(B) (1) and (2)

(C) (1), (2) and (3)

D) 4)

Lord Hewart’s “New Despotism”

refers to the growing powers of :

(A) Parliament

(B) Civil Service

(C) Cabinet

(D) Political head of a department

20.
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(1) foaR-9ge iR

(2) TouIoE TeEeAER

(3) T AT FEHUNTER

(4) FAAESTEUIALA YfHRaT
Hehdich

A (D

(B) (1) mur (2)

(C) (1), (2) =Afur (3)

D) 4)

e gaden e e A uum
o 9 gid e
WeATerieh! HoMe Faf 3R ?

(A) T
(B) AFTEen
(C) Hee

(D) faurmr=n TSR g

11
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21. Public Enterprises get their working

22.

23.

capital from :

(A) Bank advance
(B) Cash credit
(C) Non-plan loan
(D) Disinvestment

Minister-Civil Servant relationship

emerged in India with :
(A) Morley-Minto Reform Act, 1909

(B) Montagu-Chelmsford Reform
Act, 1919

(C) Government of India Act, 1935
(D) Constitution of India 1950

The Prime Minister is advised on
classification and allocation of port

folios among the ministers by :
(A) Cabinet Secretary

(B) PMO

(C) Home Minister

(D) President

22.

23.
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(B) Tl SHIRA

o N~

(C) AT

q ST

(D) fidevRMRA

Gk IOl hIFRER el ?
(A) Hi-fHdr gumon wrEl, 1909
(B) HI=T]-<FHhIS GURM HTFRT, 1919
(C) YR ¥MEF 1T, 1935

(D) YRdE "Gfaam, 1950

U= WA TR0 A0 S1eq =

Teufd Jage™ @efierieh! SHIoTheH

Hooll B ?

(A) ®fee dfea
(B) U hfer
(C) TewH

(D) gt

12



24. Match List I with List II and select
the correct answer by using the

codes given below :
List I
(@) Vote on credit
(b) Vote on account
(¢) Special grant
(d) Guillotine
List II
(1) Advance grant
(2) Contingency fund
(3) Vote without debate
(4) Emergency
Codes :

(@ ) (© @
Aa @ O @2 3
B 3 @ @O @
© @ O & @

M @1 @2 B @

MAY - 21216/II—A
24, g I Held gl 11 S[esa 11 @ieftal

Hfgdqd ara 3ar Ferer .
T 1

(@) RO

(b) @&

(c) forerer argem

(d) fireffed

T 10
(1) A FARH
(2) R el
(3) for foame Hag™
(4) GHHIAA
Hfgar :

@ ) © @
Aa @ @O @ 3
B 3 @ @O @
©c @ 1 3 @

M 1 @ B @

13

[P.T.O.



25.

26.

The Planning Commission has been

replaced by :

(A) National Institute of

Transparent Information Ayog

(B) National Institution of
Transforming India Ayog
(C) National Institute of

Technology and Information

Ayog

(D) National Institute of

Technology and Industries

Ayog

The structure of Panchayati Raj is

the produce of

...............................

project.

(A) Nilokheri

(B) Firka

(C) Etawa

(D) Sarvodaya

25.

26.
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TS STERT= SIRT ShIoTe STENT=

et gmeredt eme 2

(A) RS Hifgd=n UL T STENT

(B) 9N uierd T Hee S

(C) <M amfor wifedien Usig wEe
S

(D) T enfoT SEnTEr U Heen
IR

TS T

Tl TR

(A) el

(B) T

(C) e

(D) TaRH

14



27.

28.

29.

Which Article of the Constitution
provides for the State Finance

Commission ?

(A) Art. 223(1)
(B) Art. 243(1)
(C) Art. 323(1)
(D) Art. 248(1)

Which of the following is considered

as the IInd Phase of Civil

Services ?

(A) Evolutionary Phase
(B) Reformist Phase
(C) Transitional Phase
(D) Experimental Phase
The

Combined Civil Service

Examination does not include :
(A) Indian Police Service
(B) Indian Forest Service
(C) Indian Postal Service

(D) Indian Economic Service

27.

28.

29.

MAY - 21216/I1—A
T T SAENTEE! S =T Sl

heTHId TS hell 3R 2
(A) wHad 223(1)
(B) whem 243(1)
(C) =™ 323(1)
(D) %™ 248(1)

N e

Hodied

eGSR EARIRI
HIOTAT ?

T HIBES

(A) SHAE] HTAES
(B) GURUER! HITES
(C) frrciaucas werEe

(D) TIANCHE: HTAES

T AR Fel gH8yed Wreiierie]
AT =T HEY holell AT ?

(A) YR diferd e

(B) YR o9 e
(C) YA 29 el

(D) YRdE 31 e

15
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30.

31.

32.

Prior assent of the President is
required to introduce a bill, if it

pertains to :

(A) Money

(B) State Reorganization

(C) Taxes of State’s Interest
(D) Constitutional Amendment

He does not hold the independent

charge of a Ministry ?
(A) Prime Minister
(B) Cabinet Minister
(C) Deputy Minister
(D) Minister of State

Which one of the following is
not included in Panchayati Raj

Institutions ?

(A) Gram Panchayat
(B) Panchayat Samiti
(C) Zilla Parishad

(D) Cantonment Board

30.

31.

32.

MAY - 21216/I1—A
TTeterde! Sivrer fasameft defea
ST fadFenran y&E AT vATETe
qSIcel qaTgHdt S A 2

(A) foxfagaen

(B) TSAgAHEA

(C) T =STeiid &X

(D) SAGEE

TEAeTIeh! IV HATCTATEl W SAHUR
2

(A) TJaue™
(B) =fee wft
(C) STt
(D) T

~

et Erdieh! ShIoM= Garas! H9d

qEEY e AEr ?

(A) T Y=
(B) d=mad At
(C) foregr dftog
(D) B Hees

16



33. Assertion (A), Reason (R) :

Assertion (A) : The Office of the
Collector is loosing
its importance in

modern times.

Reason (R): Representatives

have direct access to
the Head of the

State.

Answer the question by using the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21216/II—A

33. fagm (A) 7for &R9 (R) :

o

faam (A) : 3y S fSeRiEsmr]

HATTI™ Hetd Al B

R,

HRUT (R) : T Teieh Tsawge-

e Tles Yol ECAHS.

Teld Fendished 4rd @ faer

K3 K3
-
.

(A) (A) 9 (R) Sl s&R 3fTed, 100

(R) % (A) = 3Th Tq [eh {U] 3:|'|%‘

[a)

(B) (A) 9 (R) T

SRIe 37Rd, T

(R) T (A) = 3T T TG

(C) (A) T F=R 3T, 90 (R) § I%
3R

D) (A) T IH R, 907 (R) § TN
3
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34. The most prevalent pattern of

35.

36.

relationship between the executive

agency and the Secretariat

(A) Integrated

(B) Link Officer

(C) Coordinated

(D) Generalist-Specialist Dichotomy

Which of the following is the reason
for Social Sciences not being a pure

science ?

(A) Good Investigation

(B) Inability to predict accurately
(C) Store of systematic knowledge
(D) Casuality

Questionnaire is a source of :

(A) Direct Primary

(B) Indirect Primary

(C) Secondary

(D) Documentary

MAY - 21216/II—A

34. wERR AR for Gfearadrde

35.

36.

Ay gafad YEd HIv| - ?
(A) TehIfcHeR

(B) fein aATRIER

(C) "gH<=Iq

(D) 9H=E A foRiee fgum

AT faem § Us foum A e

WAt JH0 hI0G HROT 3Aed 2

(A) =Tt qaTgol

(B) foTeendur Aifehd S0l ATaT STEmeddl

(C) USRI JEMET 913l

(D) HESTTATHh I
(A) TI& TuHE
(B) Ayas wofHe

(C) =W
(D) &l TP
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37.

38.

39.

Structured interviews are :

(A) Specific

(B) Adjustible

(C) Informal

(D) Flexible

The case studies are types of :

(A) Survey study

(B) Interrelationship studies

(C) Casual studies

(D) Comparative studies

A homogeneous group when

classified into heterogeneous unit,

the sampling is :

(A) Purposive

(B) Cluster

(C) Stratified

(D) Convenience

37.

38.

39.

MAY - 21216/II—A

{IIcHh Hedreld

(A) ff¥=a

(B) Tesiegs

(C) M=

(D) wfereieh

LI § Th YRR o
(A) Tegor 3T

(B) STREaH 31ea7 B
(C) Hesl e

(D) qoHHS ST B9

TehSiE R aifteee foieh e

hed T e ggdi=n @it TR

ST
(A) Feqh
(B) 9%

(C) =Hid
(D) i
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40.

41.

42.

Ministry of Welfare was

redesignated as Ministry of Social

Justice and Empowerment in :
(A) 1985
(B) 1998
(C) 2001
(D) 2004

Each district is represented in
the State Social Welfare Board
through :

(A) A Social Worker
(B) Collector
(C) Zilla Pramukh

(D) Member of
Assembly (MLA)

Legislative

Main organisation in health

education 1is :

(A) Central Health Education

Bureau
(B) Primary Health Centres
(C) Family Welfare Centres

(D) Central Food Laboratory

40.

41.

42.

MAY - 21216/II—A

FIT HATAATE HHISIR =13 AT
RO HATT 3TE AR hivwe
F“F“ S {U[d 3:||é ?

(A) 1985

(B) 1998
(C) 2001

(D) 2004

T HASH AT HEa i fSeedm

gfatfae womgR foar Sa ?

(A) TSI STEiehdl

(B) foemtfarer

(C) T

(D) MR

g Fgondiel ged gee w2
(A) ®3F s fago =0

(B) Wtk T &5

(C) H2d AW %5

(D) F 3 FATRIe
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43.

44.

45.

Means of ministerial control over

PSUs is :

(A) Debates and discussions
(B) Policy Directives

(C) Government audit

(D) Report of CAG

Component of disinvestment

strategy is :

(A) Sound Government Control
(B) Reduced Bureaucratic Control
(C) Sharing Management

(D) Public-Private Partnership

District administration has emerged

in the form of two models based

on :

(A) Regulatory and Development
functions

(B) Revenue and Development
functions

(C) Development Law and Order
functions

(D) Rural and Urban functions

43.

44.

45.
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HelSiieh &5 SUshHARIA HiTHE0
IERENIER e

(A) foare enfor ==t
(B) “RumeHesr fAdsm
(C) YTEehig h &0

(D) HRETITAT=  3T8aTd

BURERCIC IR

(A) T Eyol fE

(B) gt fEsoma

(C) faurSia =TaeamI—

) IICEIREECISER RIE

Negl gemed 9 WEYeR 35Ad ST

AR SMERA oTE

(A) frmes st faewm &

(B) wegd oo fose &

(C) faehTe 71 ST & GoHered i

(D) T eqfor vl
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46.

47.

Nagarpalika is associated with
which of the following constitutional

amendment ?

(A) 62nd Amendment

(B) 65th Amendment

(C) 68th Amendment

(D) 73rd Amendment

Cantonment Board is created and

administered by .................... .

(A) Municipality

(B) Zilla Parishad

(C) State Government

(D) Central Government
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46. TTATATRT HIUTTHT SSATCEEATLN

47.

TRUfeTeRT Fefd e ?

(A) 62at TeAgEil

(B) 6541 TeAGEil

(C) 68at HeAgeil

(D) 734 TeAGE!

JEU (Heor=l) dre=r fafddr smfor

YT WTeATeAdeh! hIUMgR shell Sd 2

(A) HRFIRATCTeht

(B) fSiegmierg

(C) TsIRmEA

(D) M
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48.

49.

50.

The 73rd Constitutional Amendment

Act contains

items within the purview of

Panchayats.
(A) 20
(B) 27
(C) 29
(D) 32

Which of the following is not a

function of District Collector ?
(A) District Magistrate

(B) Law and Order

(C) Public Relation and Publicity
(D) Conduct of Elections

The position of Local Government is

the weakest in :
(A) India

(B) UK

(C) France

(D) USA

48.

49.

50.
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I IOt 735 SET-
eI hEEHES hiHs faud Tt
ed ?

(A) 20
(B) 27
C) 29

(D) 32

fSeeIfehTare TTefiadeh! hIod hTd
AT ?

(A) fSreer =mmefier

(B) hIIQT S0 gegrereen

(C) HresIfTer Hae 37T F=r

(D) THaeTw™ F=eH

(A) YA
(B) T@iS
(C) W™

(D) TR (VI HEAF)
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